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Zadatak Tačan odgovor Broj poena 

1. a)  1 x 4 = 4 

2. b) 1 x 4 = 4 

3. 2 NaOH + H2PHO3 → Na2PHO3 + 2 H2O 1 x 4 = 4 

4. a) NE; b) DA; c) NE; d) DA 4 x 1 = 4 

5. Koncentraciju azot(II)-oksida bi trebalo smanjiti 2 puta 1 x 4 = 4 

6. pH = 12; pOH = 2 2 + 2 = 4 

7. 40 g kalcijum-nitrata i 160 g vode 2 + 2 = 4 

8. c) 1 x 4 = 4 

9. 

3 Cu + 8 HNO3 → 3 Cu(NO3)2 + 2 NO + 4 H2O 
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10. 

 

a) 3-metil-pentanal                              CH3CH2CH(CH3)CH2CHO 

 

b) nitrobenzen 

 

 

 

 

 

 

c) 2-metil-1,3-butadien                        CH2=CHC(CH3)=CH2 

 

d) etil-propanoat                                  CH3CH2COOCH2CH3 

 

 

 

 

 

 

 

 

 

 

 

 

4 x 1 = 4 

11. 

 

a) CH2=C(CH3)CH2CH3 + HCl → CH3C(CH3)ClCH2CH3 

 

b) CH3CH2COOCH3 + NaOH → CH3CH2COONa + CH3OH 

 

2 + 2 = 4 

12.  

 

CH3COCl + CH3CH2CH2OH → CH3COOCH2CH2CH3 + HCl 

 

1 x 4 = 4 

13. a) NE; b) NE; c) DA; d) DA 4 x 1 = 4 

14. e) 1 x 4 = 4 

15. d) 1 x 4 = 4 

 Ukupno: 60 poena 
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